[RAFE] FIETFRIERE/I YD ?n’f@ﬁtﬂigmq:

[R4.5.12%1]

T BENE
6/20-7/5: BRI
Mo F=v L3 48 5R8 68 7R 88 98 108 1A 12R 18 2R 38
1 |snse| stEvAOREA | 30
[—1 ~0%
2 HhEPAOREB | 30
3 MEREFEA | 20
4 MEREFEB | 20 ‘ |
—{ wma
5 MEREFEIC | 20
6 HERGEFFD | 20
7 TAX-BAEA | 30
8| FE | Texmmas | 20
9 TAX-BAEC | 20
10 R#HA 10
H m#
n E#B 10
| 12| gam FREER 10
3 ETSA 30
14| mm - ISB 30
15 mEISC 30
16 WA 20
17| #i® WELRB 20
18 HERC 20
19| fimm AER 20
20 BEA 43
— ==
- | (11
22 wArE@RA | 22 ‘ | ‘
23 AYE@®E | 22
24 wirE@RIC | 22 ‘ | ‘
25 mArE@®D | 28 ‘
26 BATE@RE | 15
27 EAPE@OF | 15
28| s | marE@®G | 15
29 RAPE@EH | 15
30 orrE@L | 18
31 BAFEEGE)) 8
32 FAFEEOK | 18
33 morrE@EIL | 18
34 rrE@aM | 18
35 RAPEERA | 25
36 RAPE@RB | 25
| ==
37 APBERRC | 20
38 FAPBERD | 20
39 16
|39 s | A
£
40 EEERE 16
41 DEHA 25
] et
42 DHEHB 25
43 BERIA 30
|| mam
aa| 7 WERER 30
45 KA 30
46 *B 30
— *
47 *C 20 |
48 *D 20 ‘
49 EROBEA 20 | ‘ |
50 DEIEB 20
[20] g | _macmm L]
@6
51 EROEEC 20
52 EROEED 20
53| %1% YA2—2 20
54 EBA 26
e E]
55 288 26
s6| T | erricesn) | 30
57 FBAFA 20
58 AT 20
59 E“E"' TRHESIL 20 ‘ | ‘ ‘ ‘ ‘
60 A 30 ‘ |
61 BB 30
62 EC 20
63 BXD 20
64 BRE 20
| m=
65 BEF 30
66 BEG 30
67 EH 10
68 D 10
69 R 10
70 REGERRDA | 22
| &=
7 RFGRER-R2)B | 22
72 AREA 20
[— A
73 AfEB 20
74 AEA 20
[ A%
75 AB 10
76 FREA 20
| nn
77 HRRER 20
HROMZA 30
HROMZB 30
so| W BERE 20
81| xz *a 20 ‘ ‘ ‘
82 EEA 38 l l l
] =
83 EEB 28 ‘ |
| emamixsusRa| 15
AR ARERB| 15
BHOBE 20
87 FHEEA 12
ss| WE% HBIIEB n | ‘
89 FHEEC 8
%0 WEEAS-EA | 10
=
o1|®A%: | mEmms@s | 10 ‘ | ‘ ‘
92 WEEAS-EC | 10 ‘ ‘ ‘
AORE 20
E] 23
J=R3(E-v3v | 25
96 W<EA 30
97 W<®EB 30
98 W<®EC 30 | l
99 #@<#D 30 |
## #<wE 20
] #<s
## <wF 20
## <G 20
## #<aH 10
## < 10 ‘
## < 10
EEErE=NE
—{ B —
w2z, | e [ ]
25 | [
= \ [ l
=[] [ ] |
=l [[]]
%73 5.
#i| B72 | #uswer | 20 [
##| xp | AoESEOA | 30
[—1 ==t
w| @ KoEFE0B | 20
#i HOBLA 20
#i HO<ELB 20
#i HO<BLC 20
HD<LD 1
ﬁ 0 <5UL o
<5L
#i HO<BLE 10
#i HOBUF 10 ‘
#i HO<BLG 20 ‘
# #O<5LH | 20 | ]

1221592

2578




